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BREEE

No BT R HE HElniELE tr 134 t 9 L-137 EEE

Ba. kg Ba. kg Ba. kg
1 A= R5.5.15 Faol) (Ek BRHEE9(<5.5) BREE9(<38.7) BRHEEY
2 AETH R5.5.15 HYIURD BRHE9(<5.6) BRHEE9(<3.9) - Janpcic N
3 B ZERT R5.5.15 INLA3 BRHE(<3.8) BRHET(<2.9) - Janpcc N
4 B ZERT R5.5.15 Joyal)— BREE9(<4.6) BREE9(<4.2) L Janpcc N
5 = [EIET R5.5.15 Hh)I757— BRHE9(<4.6) BREE3(<4.1) - Janpcic N
6 = [EIET R5.5.15 =XF BRHE9(<5.5) BRHEE9(<5.3) - Janpcc N
7 = [EHT R5.5.15 HY=Z—LAEX BRHET(<4.6) BRHET(<48) BRHET
8 = [EIET R5.5.15 —>=4 BRHE(<9.8) BRHET(<L7.2) BRHET
9 SRITHT R5.5.15 F—IL BRHEY(<8.0) BRHE9(<6.0) BRHET
10 SRITHT R5.5.15 RoLIYY BRHEHET(LT.1) BRHET(<L5.8) BRHET
11 SEITHT R5.5.15 555 BRHEE9(<5.5) BREE3(<L5.7) Ly Janpcac N
12 SRITHT R5.5.15 YIRS BRHE9(<6.9) BRHEET(<41) - farhcac
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